NDID Problem 1 Problem 2 Problem 3 Problem 4
2) 6 [Comments d) 6[Comments [0 2)5 [Comments b)5 [Comments ©)5 [Comments Temperature = 15 [Comments Time constrant = 5 [Comments Hoat Transfor = 10 [Comments 15
c02131462] 6 6| 6| 3 6| 6[should go outside the d| 0 ) of 5 ) 0 56
00213322 6 6| 6| 6| 8[turbine not isochoric '3[ defa h not defta u 3 3| 15| 5| 5[mcDetia T 15| &5
02125020 6 6| 6| 6 2[see son 10 1]detta h. not delta u, integrat] 3 3| 15| 4 10 5|many 77
002131489 6 6| 6| 6 6| 10 '3[ detta h not defta u 3 3| 12[see soin ) 10 ‘and analysis not clear 0
902130454 6| 6| 6| 6 6| 10 BEY 3[usen 3[usen 15| 5| 10 15| 9
902090380 0| o ol 0 o 0 5 0 o ] see solution 0 0[meDetta T 2]see solution 8|
902129592 _4|wrong properties 4| wrong properties 4| wrong properties 4| wrong properties 6| 10 5 4 5| 15| 5| 10 2]see solution 78
902137896 6| 2[wrong process choosen | 6 0]see solution 5 5 5| 5] see solution 2[see solution 5[a=100K 10[see solution 56
902135898] _2[use h 2| 2| 0 0| 7] see solution 5 5 5| 5 0 5] see solution 15| 53
902005888] _4|notice the unit 4 4 4 o 2 2[see solution 5] see solution 5| 0[meDetta T 0 34
902085578 6| 6| 6| 4 2[use Kelvin 6[see sol ol 0 o 2]see son 0 ) 11]unit problem, see soln 3]
o02144993] 2 o o 2 6| 3 2[see solution 3[usen 3[usen 2[see solution ) 0[meDetia T 13[see solution 36
o02143428] 6 6| 6| 6 6| 10 3JuseCp 3[usen 3[usen 15| 5 10 15| 04
s0z2127114] g 6| 6| 6 6| 5[state 3 is superheated | _3|detah, not delta u 3 3| 14[need A 4 2[mcDetta T 5] keep going! 73
o02117620] 6| 6| 6| 6 6| 7|plot flawed. Shouldnot{ 5 5 5| 10]see soin 3 o 0 65
902120484 6 6| 6| 4 [notice the sign of work 6| 0 BEY 5 5| 15| ) 0| meDetia T 12[see solution 78
902127832 6| 4 6| 6 6| 0 3[usoCp 3[usen 3[usen 10[ 00 solution 2 10 12[chock soin 7t
902145026 6| 6| 4 0 6| 7 3[c 3[usen 3[usen 5]see solution 0 0[meDetta T 0 3]
902134250] 6| 6| 6| 4[notice the sign of work 4[see solution 3 3]c 3[usen 3[usen 10[see solution 5| 10 5] see solution 68
902125008 _ 4 Input wrong numbers 6| 6| 6 6| 10 5 5 3[delta h, not defta u 10[check soln 2[should be inverse 3[meaT 6] cheke soin 72
902127042 3| wrong numbers. 6| 6| 0 6| 5 boller should be isobaric| 3] delta h. not delta u 3 3| 14[need A 4 0[meDelta T 10[see soin 63
902138843 6| 6| 6| 6 6| 8[notover criical 3 3[delta h, not defta u 3[delta h, not defta u 0 0 1 13| Calculation of 0 F to K. 61
902129656 6| 6| 6| 6 6| 7[see solution 5 5 5| 5] see solution ) 0[meDetta T 15| 72
002125448] 6 6| 6| 2 6| 10 4 3[delta h, not defta u 3[delta h, not defta u 5]see son ) 3 15| 69
s02119600] 6| 6| 6| 6 6| 7| missing values 5| 3[usen 3[usen 12[notice the unit 3[notice the unit 0| meDetta T 15| 78
oo02142581] 6 6| 6| 6 o 10 3[usocp 3[usen 3[usen 15| 2[inverse 10 15| &5
o02131118| 6] 6| 6| 6 6| 10 5| 5 5| 15| 5| 10 15| 10|
902129157 6 6| 6| 6 0| 0 5| 3[usen 3[usen 10]see solution ) 5| 10| check soin 70
902096403 6| 6| 6| 6 6| 10 3| 3[delta h, not defta u 3[delta h, not defta u 8] check soin 2[check soin 6[check son 8input Tin K 73
902117766 6| 6| 6| 6 6| 10 4 5 5| 15| 5| 10 14[inaccurate %
902119092] 6| 4 6| 0 6| 8[see solution 3]use Cp 3[usen 3[usen 15| 5| 5] see solution 15| 79
902126748 6| 6| 6| 6 6| 7|not above the critical po| 5 5 5| 15| 5| 0[meDetta T 11]see soln 83
902138686 6| 6| 6| 6 6| 10 5 3[delta h, not defta u 3[delta h, not defta u 0 0 2 8] check soin 61
902126820] 3| wrong numbers for h 6| 6| 6 2[use Kelvin 10 3]delta h, not delta u 3 3| 15| 5 3[mcetta T 10]on the right rack, see soln 75
902119606 4 4 6| ) 2| 1 1 5] see solution ) 0| mcDetta T 0 3t
902123620] 42 wrong. m wrong 6| 6| 4 2| 10 o[ check soln 0 of 8]non numbers [0 numbers 10 15| 67
02140372 6 6| 3] wrong numbers 6 6| 8[check son B 3[delta h, not defta u 3[delta h, not defta u 11]see soln ) 2[mcDetia T 8[input Tin K. 65
so02127432] 6 5| 5 o of 4[see solution 5| 5 5| 15| 5| 10 10] check soin 75
902101438] 0 o| 0| ) o| ) 5| 3[delta h, not defta u 3| 11]see son 3[numbers? 3[mcDetia T 38
902146856 6| 6| 6| 6 6| 8[plot check soin 5| 5 5| 14] numbers are bit off 5| 3[meaT 11 Calculation error 86
902135378 6| 6| 6| 6 6| 9{vague plot 5| 2[check son o 8] cenck soin 0 0 0 54
902127552 6| 6| 6| 6 6| 10 3]use Cp 3[usen 3[usen 15| 5| 10 10[check soin 89
902134614] 6| 6| 6| 6 6| 10 5 5 5| 15| 5| 4[menT 15| 9
9021266%| 6| 6| 5|off by 103 6 6| 10 3] wrong cp 3[defta h, not defta u 3| 7] need to solve ODE 5| 9[need k. not kJikg 3] see soln, many problems here 72
902131246 6| 6| 6| 6 6| 10 3 3[delta h, not defta u 3[delta h, not defta u 15| 4[Area 4 0 72
902120780 6| 6| 6| 6 2[see solution 7[see solution 3le 3[usen 3[usen 5] see solution ) 0[meDetta T 15| 62
s02116800] 6| 6| 6| 6 6| 10 3JuseCp 3[usen 3[usen 15| 5 10 15| 04
c02131893] 6 4 6| 0 4 ) o 0 of 10[see solution ) ) 0 30
902133142]__3|m wrong check soln 6| 6| 6 6| 8[check son 3[usecp 3[dolta h, not defa u 3[delta h, not defta u 11| numbers not right 3 4[check son 3] check soin 65
o02124888 6| 6| o of ) 3| 3[delta h, not deta u 2 6| 1 ) 11]FnotC 2|
902125660] _1]beta is not the right approach | 6| 6| 2[wrong approach for eta 6| 7|not above the critical po| 5 5 5| 4[see son ) 1 10]see soin 58
902125462 6| 6| 6| 6 6| 10 3| 3[dolta h, not defta u 3[dolta h, not defta u 5 0 5| 15| 74
902126163] 1 2| 2| 2[see son 2| 5[ boller should be isobaric| 3] delta h. not defta u 3 3| 15| 0 3[meDetta T 9] some correct ideas, close the deal 50
902105631 6| 6| 6| 6 6| 7] see solution ol 0 o 2]see solution 0 0[meDetta T 0 39
902126293 6| 6| 6| 0 6| 10 3|use Cp 3[usen 3[usen 15| 5| 10 15| 88
9021435%| 6| 6| 6| 6 6| 10 5 5 5| 15| 0| missing time constant 10 15| 95
902146230 _4[sece solution o o 0 o ) 3JuseCp 3[usen 3[usen 2]see solution 0 0[meDetta T 15| 30
002118901] 6| 6| 6| 3 6| 6[see sol 5 5 5| 14] 4 ) 15| 84
02130832 6| 6| 6| 6 6| 10 5 5 5| 10[see solution ) 10 15| %0
02144322 6 6| 6| 6 6| 10 3|useCp 3[usen 3[usen 15| 5 10 15| 04
002128123] 6 6| 6| 6 o ofstate 1102 5| 5 5| 15| 5| 10 15| 3
o02115074] g 6| 6| 5 4[use Kelvin, wrong TL ofstate 1102 3[usecp 3[usen 3[usen 14]unknowns in eqn 4[inacourate 10 5] check soin 78
902146808 6 6| 6| 2[oan wrong 3[1nput wrong numbers 10 5| 3|dotta h, not detta u 3[detta h, not detta u 15| 5| 2[check son 0 66
902138846 6| 6| 6| 6 6| 8[check son 5| 3[delta h, not defta u 3[delta h, not defta u 14| 5| 2[check soin 11]FnotC 81
902128349 6| 6| 6| 6 6| 10 3]use Cp 3[usen 3[usen 15| 5| 10 10[check soin 89
902135577] 5| wrong h3 5| 5 0 4 10 5 5 5| 5] wrong ean. © 0 5] see solution 12[check soin 66
902126028] 6| 6| 6| 2[see soln 6| 7[twrbine and pump notis] 5 3[delta h, not defta u 3| 15| 5| 1|meDetia T 8]keep going! 73
902125028 0| o ol 2 4[input should be in kelvin 10 3 3[delta h, not defta u 3[delta h, not defta u 4 0 4| meaT 8input Tin K 7l
902131034 6| 6| 6| 6 6| 10 5 5 5| 15| 5| 10 8] see solution 93
902143136] 6| 6| 6| 3 6| 10 5 5 5| 12| wrong 1 4[wrong answer 5| 15| o1
902125500] 6| 6| 6| 6 6| 8] state 3 wrong on piot 3 3[delta h, not defta u 3[delta h, not defta u 10[ check solut 2 10 0] Kelvin conversion 79
s02131452] 6 6| 6| 6 6| 5[piot oo vague 1 ) of 14| numbers a bt off ) ) 10[QH notaL 60
c02119544] 6| 6| 6| 6 6| 5[state 3 is superheated | _3|detah, not defta u 5 5| 11]see son 2[see son 3[meDetia T 10[see soin 78
0021367336 6| 6| 6 6| 8[check son 3| 3[delta h, not defta u 3[delta h, not defta u 15| 4{Area 10 8] check soin 84
02181932 6 6| 6| 6 6| 10 3[delta h. not detta u 3 3| 15| 5| 10 12| You have QH correct. That is what we want. Your QL s incorrect. 91
902125626 6| 6| 6| 6 6| 10 ol 0 o 11]units don't match 5| 10 15| 81
902130298] 6| 6| 6| 6 6| 10 1 3[usen 3[usen 15| 5| 10 8]see solution 85




